Recognise numerals 1-10

Select the correct numeral to represent 1 to 5, then 1 to 10 objects.
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Recall double facts to 5+5

1+1=2 double 1is 2
2+2=4 double 2is 4
3+3=6 double 3is 6
4+4-=8 double 4is 8
5+5=10 double 5is 10
Identify and represent numbers concretely
and pictorially
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2 times table facts

1040=10
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5+5=10

Recognise number bonds to 10

W1=10  82=10 743=10  o44=10

ho=10  3#7=10  48=10  149=10

55=10

0+10=10

x 2 = |2
x 2 = |4
X 2 =16
x 2 = |8
x 2 =110
x 2 = [12
x 2 = 114
x 2 =116
x 2 = |18
x 2 = 120
x 2 = 122
x 2 =124




1+1=2
2+2=4
3+3=6
4+4=8
5+5=10
6+6=12
7+7=14
8+8=16
9+9=18
10+10=20

Recall double facts to 5+5

double 1is 2
double 2is 4
double 3is 6
double 4is 8
double 5is 10
double 6 is 12
double 7 is 14
double 8 is 16
double 9 is 18
double 10 is 20

Know mathematical

symbols
add +
subtract ==
times x
divide
equals o

Recognise and know the value of different coins and notes:

Five pound note  Ten pou Fifty pound note
£5 () [Eeod €10 5 [E
e » AN 2
5\’%.0‘k
© ' L ©
2P 10p 50p £2
1P Two pence coln sp Ten pence coin 20p Fifty pence coin £1 Two pound coin

One penny coin

Twenty pence coin

Five pence coun

One pound coin

Recognise 2D and 3D shapes

Know days and months

Days Months
i )
triangle Monday January

circle .

I IVNET] (TR

square - o
sphere cube pyramid cuboid ( \ - 5
rectangle Wednesday March @\
pentagon . —
Thursday . =
hexagon . ﬂ ' ' | April %‘
oval . ind triangular ‘ Friday H May ,\\fﬂa‘

cylinder rism cone

rhombus ’ F ) 7 L )
trapezium y Saturday June ‘oo
Sunday July e~ |

Tell the time to half past and o’clock

1
One o’clock 10“ 21 2 10“ 2
9 ° 3 9 o 3
4 8 4
7 c S 7 ¢ S

Seven o'clock

Half past three

August % ‘J

October ﬁ

November 7
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December .

Half past nine Ten o'clock
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7 c 5 7 ¢ 5
Half past six Twelve o'clock




i i Equivalent fracti half .
Number bonds to 20 5 times table facts 10 times table facts quwa\j!vr;]t ré;tlon_s t.O : ar)d The Commutative Law
0+20=20 20-0=20 1 X 5 - _ quarter' enli entlfymg ractions The Commutative Law says that when you add
1+19=20 20-19=1 1 x 10 = @ that are equivalent to a half, The or "‘““EFL“O’JLLTVZZ?}I gonuugf;et:;er:ir:\t;unswer
2+18=20 20-18=2 2 x 5 = 2 x 10 = @ numerator is always half of the .o . . o
3+17=20 20-17=3 denominator below it. odetee oot Qe
4+16=20 20-16=4 3 x 5 = 3 x 10 = @ 6+43=9-3+6
5+15=20 20-15=5 - 444
6+24=20 20-14=6 4 x 5 = 4 x 10 = @ 4x2=8=2x4
7+13=20 20-13=7 _
5 X 5 = 2 =
8+12=20 20-12=8 S x §§ 50 |
9+11=20 20-11=9 6 x 5 = -30 6 x 10 =
10410220  20-10=10 60 | Currency
11+9=20 20-9=11 7 x 5 = 7 x 10 = F70] 1 pound =
_ _ pound = 100 pence
12+8=20 20-8=12 3 5 = =
13+7=20  20-7=13 X - 8 x 10 = BO | £
14 +6 =20 20-6=14 9 x 5 = 9 x 10 =
15+5=20 20-5=15 w
16 +4 = 20 20-4-16 |10 x 5 = 10 x 10 = 10d p
17+3=20 20-3=17
18+2=20 20-2=18 |17 x 5 = 1 ox 10 = 110
19+1=20 20-1=19
12 X 5 = =
20+0=20 20-0=20 12 x o8 12d
e Order using ordinal numbers
e i (st | I 3rd [ 4th | Stk | 6th [ 7tn | )
jm: !: eleven thirteen fifteen seventeen .
# nineteen
fifty five twelve fourteen sixteen eighteen
sixty six
seventy sSeven
eighty eight
ninety s
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Roman Numeral Table 1 [2]3Tals5 6789 10 =
. . .
1 I 14 XN 27 WI 150 CL g . g - . - i 1 litre = 1000 mlllflitr.es
W T 5y Ao i |12 |13 [ 14|15 |16 |17 |18 |19 |20 . multiple of 2 et o it |
21 (22|23 |26 | 25|26 |27 [28 | 29 [30° @ @ E
| 6P 29K 300jcec — - e — e
31 3233 |36(35|36|37 (38|39 |40 -
A L 400/C0 O - I e . multiple of 3
slv | 1shv 31l 500(0 41| 42 | 43 | 44 | 45 | 46 | 47 | 48 | 49 | 50 Length 3 berionte
g O Qg O O 1lkt ometre 81000 mate m 1 tonne = 1000 kilograms t
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L me Lo Lk . : : 21 [ muttiple of 5 e s o
TV | 0] S0jL 100{0CC 61 62|63 |64 |65 |66 |67 [68 |69 |70 cm a I nfg
Vil | 21(0 60 L 800{0CCC g : T F = mm
T|72|73| 76|75 |76 |77 |78 |79 |80 multiple of 10
ofx | 2 | 70lux 900 CM - — & : — P
81 |82|83|8s|85|86|87 (88|89 |90
o | apou | sofuow | 1000w - | . 1L ] .
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twenty two rectangle 4 4
thirts three
fm: e eleven thirteen fifteen seventeen A pentagon . 5 5
{:ii fs' ‘: twelve fourteen sixteen eighteen hexagon . 6 6
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eighty
ninety ) rhombus ’ 4 4
S
——————
trapezium y N 4 4
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2 times table facts 5 times table facts 10 times table facts Hundreds Tons Ones
2 = 5+5= -+ =
+2=1 10+10=1 HITlo - .
4+2=2 10+5=2 20=-10=2 698
6+2=3 15+5=3 30+10=3 176 I
8+2=4 20+5=4 40+-10=4 I
10+2=5 25+5=5 50+10=5
12+2=6 30+5=6 60+10=06 one hundred  four hundred seven hundred
14+2=17 35+5=7 70+-10=7 I
16+2=8 40+5=8 80-10=8 two hundred  five hundred eight hundred One thousand
18:2=9 45+5=19 90+10=19 three hundred  six hundred  nine hundred
20+2=10 50—5=10 100—10=10
23 +2 =11 55 +5=11 110 + 10 = 11
Multiplying by 10 — When you multiply by 10 and 100. You move the digit 1 Dividing by 10 — When you divide by 10 and 100, you move the digit 1 and 2
or 2 places to the left using zeros as a place holder. places to the right keeping the decimal place where it is.
I || Hundreds
Number 8 Number
Multiplied by 8 0 Divided by 10 4
— Divided by
Multiplied by 8 0 0 100

100




24 hour clock conversion

STANDARD 24-HOUR STANDARD 24-HOUR
12 MIDNIGHT 2400 12 NOON 1200
12:01 AM 0001 12:01 PM 1201
12:15 AM 0015 12:15 PM 1215
12:30 AM 0030 12:30 PM 1230
12:45 AM 0045 12:45 PM 1245
1 AM 0100 1 PM 1300
2 AM 0200 2 PM 1400
3 AM 0300 3 PM 1500
4 AM 0400 4 PM 1600
5 AM 0500 5 PM 1700
6 AM 0600 6 PM 1800
7 AM 0700 7 PM 1900
8 AM 0800 8 PM 2000
9 AM 0900 9 PM 2100
10 AM 1000 10 PM 2200
11 AM 1100 11 PM 2300

0:00=12:00 AM

1:00 = 1:00 AM
2:00 = 2:00 AM
3:00 = 3:00 AM
4:00 = 4:00 AM
5:00 = 5:00 AM
6:00 = 6:00 AM
7:00 = 7:00 AM
8:00 = 8:00 AM
9:00 = 9:00 AM

10:00 = 10:00 AM
11:00 = 11:00 AM
12:00 = 12:00 AM

12:00 = 12:00 PM

13:00 = 1:00 PM
14:00 = 2:00 PM
15:00 = 3:00 PM
16:00 = 4:00 PM
17:00 = 5:00 PM
18:00 = 6:00 PM
19:00 = 7:00 PM
20:00 = 8:00 PM
21:00 =9:00 PM

22:00 = 10:00 PM
23:00=11:00 PM
24:00 =12:00 PM

eeeeeeeeeeeeeeeeeeeee
Capacity
1 litre = 1000 millilitres

1 centilitre = 10 millilitres
s S \

nnnnnnnnnnnnnnnnnnnn

Length

1 kilometre = 1000 metres

-

1 metre = 100 centimetres

1 centimetre = 10 millimetres

km

cm
mm

Weight
1 tonne = 1000 kilograms t
1 kilogram = 1000 grams kg
1gram = 1000 milligrams g

—_l 3

-
10
l I |
| | I
0.7 0.8 0.9 1

Identify the properties of 2D shapes

triangle
circle
square
rectangle
pentagon
hexagon
oval
rhombus

trapezium

RALLA

3 3
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5 5
6 6
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3 times table facts 4 timle facts 8 times table facts
tx s =[3] 3+3=1 x4 = [A ] Lo C s -[g] 8%8-1
2 x 3=|E| 6+3=2 2 x 4 = 8.:-4:2 2X8= 16—8'_'2
5« s =[9] 9+3=3 3 x4 = [12] 12:4=3 s x o = [24] 24+8=3
4+ x 3 =[12] 12+3=4 4 x 4 =16] 16+ 4 =14 « x s -[3) 32%8=4
5 x 3 =[15 15+3=5 5 x 4 = 20| 20+4=5 s x s - [40] 40+8=5
6 x 3 - [18 18+3=6 6 x 4 = [24] 24 + 4 =6 6 x s - [48 48+8=6
7oxo3 =21 21+3=7 7 x 4 =[28] 28+4=7 7 x s -[56) 56+8=7
8 x 3 =[24 24+3=8 8 x 4 =[32] 32+4=8 s x 8 - [p4 64+8=8
9o x 3 =1[27] 27+3=19 9 x 4 =[36] 36 +4=9 o x & =[72] 72+8=9
0 x 3 =[30 30+3=10 0 x 4 = [g0] 40+ 4 =10 10 x s = [80] 80 +8=10
11 x 3 =[33] 33+3=11 1ox 4 = [gg] 44+ 4=11 1 x s = [88 88+8=11
2 x 3 =[36] 36+3=12 12 x 4 = [gg] 48 %4 =12 2 x 8 =[96] 96+ 8 =12
Factor pairs and commutativity: Know the numbers that come below zero:

Know that a factor of a number Negative Numbers Positive Numbers

will always have a factor partner | -

(except square numbers) ‘(-10 -9 -8 -7 -8 -5 -4 -3 -2 -1 (I) 1 2 3 a4 5 & 7 8 9 10
Number: 28
Factor Pairs 1and 28 2and14
4and?7 Time: 30 days (Apr, Jun, Sep, Nov) (28/29 days —
. 1 minute = 60 seconds Feb/ Feb leap year)

Commutativity: 1 hour = 60 minutes 1 year = 365 days
1x28=28 28x1=28 1 day = 24 hours 1 decade = 10 years
2x14 =28 2x14=28 1 week = 7 days 1 century = 100 years
4x7 =28 7x4 =28 1 month = 31 days (Jan, Mar, May, Jul, Aug, Oct, Dec 1 millennium = 1000 years




Know prime numbers

24-hour time
0 1 2 3 4 5 868 7 8 9

a.m

2 3 4 5 6 7 8 9

imon

121 10 11 12 1

12-hour time

-

3

-

12 13 14 1S 16 17 18 19 20

p.m.
S

6 7 8

21

9

29 ,

10

Multiplying by 0 and 1
Any number multiplied by 1 will equal itself.

1 2 3 4 5 6 7 8 9 10
11 12 13 14 15 16 17 18 19 20
21 22 23 24 25 26 27 28 29 30
31 32 33 34 35 36 37 38 39 40
41 42 43 44 45 46 47 48 49 50
51 52 53 54 55 56 57 58 59 60
61 62 63 64 65 66 67 68 69 70
71 72 73 74 75 76 77 78 79 80
81 82 83 84 85 86 87 88 89 0
91 92 93 94 95 96 97 98 929 100
Know Multiplesof:0=6 @ =7 e -9 ® =25
1 [ 23] a]5s Pe] 7% & [go [ 10
11 P12 | 13 | 149 15 | 16 | 17 @18 | 19 | 20
219 22 | 23 [O2a | 255 26 [g27 | 28®] 29 [P0
31 | 32 | 33 | 34 | 35 .B 36 | 37 | 38 | 39 | 40
21 0a2% 43 | 44 %5 | 46 | 47 (D48 | 49 ¥ s0q
51 | 52 | 53 ‘ﬁ sa | 55 | 56® 57 [ s8 | s9 [Peo
61 | 62 |963% 64 | 65 (066 | 67 | 68 | 69 | 70
71 Q72 | 73 | 74 | 75| 6 779078 | 79 | 80
o8l | 82 | 83 (U84®| 85 | 86 | 87 | 88 | 89 [g90
91® 92 | 93 | 94 | 95 [Oos | 97 | 9s® 0% | 1005

e.g. 134x1=134 1x134=134 654 x1=654 1 x654=654
Any number multiplied by 0 will equal 0.
e.g. 134x0=0 0x134=0 654x0=0 0 x654=0
Telling the Time
five minutes | o'clock | five minutes
to past
ten minutes ten minutes
to past
quarter quarter
to past
twenty .TwenTy
minutes to minutes past|
twenty five twenty five
minutes to inutes past.
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Times Table up to 12

3/a|s|6/7]8]09

10

1|12

3(4|5|6,7 8|89

10

1112

6|8 [10(12 14|16/ 18
9 |12(15|18 21| 24| 27

20
30

22 | 24
33 36

12|16 (20|24 28|32 36

40

44 | 48

15120(25|30 35|40 45

50

55 | 60

18|24 |30 |36 42| 48| 54

60

66 | 72

21|28 42149 56| 63
24 (32 48 56| 64| 72

70
80

77 | 84
T
88 | 96

Ll iN|n v |w -

27|36 54 63|72 81

90

99 108

10
11

30 | 40 60 70| 80| S0
33|44 66 77| 88| 99

100
110

110/120
 §
1211132

12

Smmbbw
nw olwn|olwn

36| 48 72 B4 |96 |108

120

1321144

16

25

36

8 or2x2=4

For3x3=9

fordxa=16

5 or5x5=25

6 0r6x6=236

Counting in thousandths:

0.001 9.995
0.002 9.996
0.003 9.997
0.004 9.998
0.005 9.999
0.006 10
0,007 10.001
0.008 10.002
0,009 10.003
0.01 10.004
0.011 10.005
0.012 10.006
0.013 10.007
0.014 10.008
0.015 10.009
0.016 10.01
0.017 10.011
0.018 10.012
0.019 10.013
0.02 10.014
0.021 10.015

Counting in thousands:

0 434
1,000 1,434
2,000 2,434
3,000 3,434
4,000 4,434
5,000 5,434
6,000 6,434
7,000 7,434
8,000 8,434
9,000 9,434
10,000 10,434
11,000 11,434
12,000 12,434
13,000 13,434
14,000 14,434
15,000 15,434
16,000 16,434
17,000 17,434
18,000 18,434
19,000 19,434
20,00 20,434

Partition numbers up to 10,000:

/R

6,000 80 4

AN

5,000 0 90 "2

Names of Shape Properties:

centre
of
circle
Radius x 2 =
Diameter

circumference

Vertices (plural)
vertex

\ ec\gei

< b

rignt

obtuse




Decimal Percentage

2D Shapes 3D Shqpeg Fraction

1 Side 2 Siben

Semi Gocle

00

|
il
:
Il
I

Know cubed numbers

1TxTx1= 1
2x2x2= 8

Average: To find the mean (average) add all the
numbers up and divide your total by the amount of
numbers you started with.

eg. 3,2,5,6 6+5+3+2=16 16+4=4 Mean=4 1 4 6

10’ 10x10x10=1000

HTh | TT | Th 1) Tth
h S
3 2 4 5 8 3 1 : 2 7

8 5 0

13
23
= 33 3x3x3= 27 0.2
Two
= = - 43 4xbxbt= 64 tenths
.@ 5’ 5x5x5= 125 0.07
S
@ || & crexem2e || i
.® 73 7x7x7= 343
_ 83 sxsxs-n 0.003
@ Th
Q° axaxa= 729 thc:(;iandths

5 0

S r———s v __4 3
6000
8,000,000 300,000 70,000 Six

Eight million Three-hundred seventy
thousand thousand

thousand
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Angles

In a right angle= 90 degrees

Opposite angles are the
same.

Angles a and b are equal
and angles ¢ and

On a straight line= 180 degrees

2 right angles make a straight line

In a full turn= 3600

4 right angles make a full turn

180°

360°

Partition numbers up to 10,000:

2 6438 32

iy /NS

Example:
5x5=25 Area=25cm?

around the outside

ofa 20 shape

its wicth

ength x width = area )

600,000 20
’ 40,000 300
8000
Factor: a number that goes into another number with no Weanic
remalnder FaCtors Of 12: 1'2’3'4’6 l(":h"pl]?'?:"\_mll':‘w'l.{?gc:"‘“"h llnk;"\lm.nlllflofr:h
Multiple: A number that the number you have goes into « 1000 « 100 < 10
eg. Multiples of 4= 4,8,12,16,20...40...400 N \ \
Prime number: A number that only has itself and 1 as a Fo m cm mm
factor e.g5,29,41 (does notinclude 1)
Composite number: A number that has more that is not 1o 1o "
prime (has more than two factors) e.g. 4,6,8,9 1000l - | litre 1000g - | kg
Perimeter and Area
ez [ | Whais et | Findingthe Ar | oy crsowe
only need to know The perimeteris the Townrkottheonel (I'QCtﬂng 0) Eg: 4x3=12
the length of dstance al the way ‘ e 12+2=6 height|=3 cm
1 side as all sides are equal. fngth th Area= 6cm?

base =4 cm




